Mesure d'un Rectangle (J)

Calculez les mesures manquantes pour chaque rectangle.

A P
P = 85,2 hm
A = 453,65 hm?
6?‘ ——————— P e - .
P =161,2 nm

A = 1622,4 nm?

P = 63,48 nm
A = 231,876 nm?

2.

e*‘ ——————————— VA
P = 62,52 dam
A = 240,012 dam?
(*?‘ —————————————— VAR e E
P = 145,6 m
A = 1183,35 m?
k4 e P mm e - -
P = 92,72 mm

A = 514,464 mm?
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Mesure d'un Rectangle (J) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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Fi---- 21,10 hm ------ A 17,7 dam ----------
AP = 85,2 hm , P = 62,52 dam
= 453,65 hm A = 240,012 dam?
T 4.
z 3
=3 “
3 A 483 m - -----mm oo 3
S 41,60 nm ----- 3 P =1456 m
P = 161,2 nm A = 1183,35 m?
A = 1622,4 nm?
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A 200834 nm ------------ i
P = 63,48 nm , k4o 27,96 mm ------------
A = 231,876 nm P = 92,72 mm

A = 514,464 mm?
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